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Method of least square is used to
obtain the best fitted regression line.

The data collected and arranged
according to the time is called time-
series. OR A time series 1s a set of
observations taken at specified time
periods.

P(A U Bu C)=P(A) + P(B) + P(C)
-P(AnB)Y-PANnC)-PB n
C) + P(ANnBnNnOC)

Suppose dichptomous random
experiment has two outcomes, success
(S) and failure (F). If this experiment
is repeated » time under identical

conditions and the probability p(0 < |

p < 1) of getting a success at each
trial is constant then “Such trials are
called Bernoulli Trials.
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